hav(ZD) = % hav(L-d) - % hav(L+d) + % hav(L+d+LHA) + % hav(L+d-LHA) + % hav(L-d+LHA) + % hav(L-d-LHA)

L ->L
a >d
L-d -> L-d L+d -> L+d
T L BT . ———
L-d +LHA L-d -LHA L+d +LHA L+d -LHA
ghav(L-d) 0. ghav(L+d) 0.
ahaviLed) e
S [N
ghav(L+d-LHA) 0.
sum
2*ghav(Led) riatm e
difference 0. =4*ghav(ZD)
divided by 4 0. =ghav(ZD)
ZD (looked up in table of ghav)
L ->L
. — .
L-d -> L-d L+d -> L+d
N o T o
L-d +LHA L-d -LHA L+d +LHA L+d -LHA
ghav(L-d) 0. ghav(L+d) 0.
ghav(L-d) ghav(L+d)
2L L
ghav(L+d-LHA) 0.
sum
e P e
difference 0. =4*qghav(ZD)
divided by 4 0. =ghav(ZD)

ZD

(looked up in table of ghav)

L >L
da >d
L-d -> L-d L+d -> L+d
T . ———- BTN . ———
L-d +LHA L-d -LHA L+d +LHA L+d -LHA
ghav(L-d) 0. ghav(L+d) 0.
ahaviLa) e ahaviLed) e
ghav(L-d+LHA) 0 sum 0
e e I I |
ghav(L+d+LHA) 0
ghav(L+d-LHA) 0.
sum
2*qhav(Led] rEan
difference 0. =4*ghav(ZD)
divided by 4 0. =ghav(ZD)
ZD (looked up in table of ghav)
L >L
" .-
L-d ->L-d L+d -> L+d
N 1 R T L
L-d +LHA L-d -LHA L+d +LHA L+d -LHA
ghav(L-d) 0 ghav(L+d) 0.
ghav(L-d) ghav(L+d) 0. |
ghav(L-d+LHA) O sum 0
e I B S
ghav(L+d+LHA) 0
i T
sum
e P
difference 0. =4*qghav(ZD)
divided by 4 0. =qghav(ZD)

ZD

(looked up in table of ghav)



